BOOKLET CODE

R MRt G S8

Indian Institute of Technology Roorkee

RECRUITMENT EXAMINATION FOR
ASSISTANT SECURITY OFFICER (FEMALE)

TIER-I

This booklet consists of 28 pages.

29 YRidet & ¢ g8 E |

Maximum Marks: 50 Time: 120 Minutes

HfIFHIH 3idh: Yo 97 R0 fire

Name of Candidate (CAPITAL LETTERS):
31eff 1 AW

Roll Number:
31':19bHI0b |

Father’s Name:
fUdr &1 AW

Date of Examination:

TR ot fafy

Signature of Candidate Signature of Invigilator

3naelf & gEer ftere & gETER




2L

=~

9.

INSTRUCTIONS TO CANDIDATES

1. This question paper has 50 questions. Each question carries one mark. There are four choices for answer

(A, B, C, D) to each question. Choose the correct answer (one only) for each question and mark it on

the Optical Response Sheet (ORS).

Questions have been set in English and Hindi, in case of discrepancy, the English version will prevail.

Read the instructions given in the ORS carefully.

Use a black pen only otherwise, ORS will not be evaluated.

Candidate must write Name, Roll No., Date of Examination, Booklet Code and sign on the ORS.

The candidate should check that the booklet does not have any unprinted or torn or missing pages or

questions etc. If so, get it replaced with another question paper.

7. While marking your answer on the ORS, fully darken the circle. Answer once marked cannot be
changed.

IS

8. One (1) mark will be awarded for each correct answer and minus one by three (—g) mark for each

incorrect answer. The unanswered questions will not attract negative marks.

9. Return the ORS to the invigilator after the examination is over.

10. Candidate is allowed to take away question paper after the examination.

11. Mobile and other Electronic Gadgets are prohibited in the examination. Watches of any kind are also
not allowed.

12. Use of unfair means in examination will lead to cancellation of candidature.

CORRECT Method of Answering in ORS WRONG Method of Answering in ORS
ORS H IR & &1 gl i1 ORS H IR & HT 7Teld 1T
D ® © ® ® @& €E
» ® @ © D ® X
® C © © »w e ©
A © @ R NG =
»n ® © @ » ® © G
Sufiear! & fore srge=r

T UYT T 50 U & | TS UY &b IR &b [T IR (A, B, C, D) [adhed | A% Uefdhs 1w It SR (hadt ) T
3R 3¥ Optical Response Sheet (ORS) e R Rifed &

fguTsht st B 1S fainifa 81 &t fRufar & Sfsft faavor A ghm |

ORs ¥ feu Tt &= &l T Y U |

&I I U BT YN BHX, =TT ORS BT oAb+ -To| (b ST |

ORS 2fie TR 301 7, Jd Far, Uten &t fafy, gl Hie fordeik gxdler &1

JCaR B T8 SIreT =Rt {6 39 gt § 18 3mfed a1 %e 1 J1ual Uy a1 usie el 81 afe T e, a8
TSR IY I g d |

ORS TR 3{UAT IR 3Hfobd HRd THY I TMcl bl Y1 a8 Y BTAT DR ¢ | Uob SR 3ifcbd IR DI I&al A1 off Hebell|
TS T SR b oY Teh (1) $feh Tl BTN SR Tl TIeff IR ab 1 U el fi (— - ) 3ieh e fa smam |
START U THRIAD 3 BT Tal Bl |

T8 JAT 8 & &1 ORS FARYerd &1 afer |

10. IHGAR DI TA&T & 1E UY U 30 1Y o o B 3 5
11. TRYen ¥ MaTsd 3R 37 3adel - oy afoid &1 et +ff UsR @ ufsal ot ot srgafa T2 81
12. GR1&T  Sfd AreE o HA &t Rufd o Sufiqart g & & S|
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(Objective type questions)
UHR & )

Each question carries 1 mark

TISH UY P 13fF 8

Note: Read the passage below and answer question numbers 1 & 2:

Since the world has become industrialized, there has been an increase in the number of
animal species that have either become extinct or are nearing extinction. Bengal tigers, for
instance, which once roamed in the jungles in vast numbers, now number only 2,300 and by
the year 2025 their population is estimated to go down to zero. What is alarming about the
case of Bengal tiger is that this extinction would have been caused almost entirely by
poachers who according to some sources, are not interested in material gain but in personal
gratification. This is an example of the callousness that is part of what is causing the problem
of extinction. Animals like the Bengal tiger, as well as other endangered species, are a
valuable part of the world’s ecosystem. International laws protecting these animals must be
enacted to ensure their survival, and the survival of our planet. Countries around the world
have begun to deal with this problem in various ways. Some countries, in order to circumvent
the problem, have allocated large amounts of land to animal reserves. They then charge
admission fee to help defray the costs of maintaining the parks and often must also depend
on world organizations for support. When they get the money, they can invest in equipment
and patrols to protect the animals. Another solution that is an attempt to stem the tide of
animal extinction is an international boycott of products made from endangered species. This
seems fairly effective, but it will not by itself prevent animals from being hunted and killed.

1.  What is the author’s main concern in the passage?

Problems of industrialization
The Bengal tiger
Endangered species

o w >

Callousness of man

2. According to the passage, poachers kill for

material gain
personal satisfaction
both (a) and (b)
none of these

o w >
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Nobody believed Paul at first but he to be right.

came out
turned out

worked out

o w >

carried out
You missed a great party last night. You Why didn’t you?
must have come

ought to have come

should have come

o w >

had to come

In how many different ways can the letters of the word 'LEADING' be arranged in such

a way that the vowels always come together?

'LEADING' Uec & &Rl Bl fobam SIcT-3ei dRih! I 39 YbR AU fhar o
ol & T vowels THRIT T 1Y 3TT?

A. 360
B. 480
C. 720
D. 5040

If sin2 B = 2sin B istrue then B is equal to

T sin2 B = 2sin B I € I B, P R 2l
A. 90°
B. 60°
C. 30°
D. 0°
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The distance between the points P(0, 2) and Q(6, 0) is

fag P(0, 2) 3R Q(6, 0) & & Bt g gl

o o w >

410
2v10

V10
20

8.  Ifthediscriminant of a quadratic polynomial, D > 0, then the polynomial has

gfg quadratic polynomial T discriminant D > 0 %‘ ar polynomial &

A. two real and equal roots
<) aTEfde AR FAF A B §
B. two real and unequal roots
<) aTfdes SR A el 8 ©
C. imaginary roots
B 1 BId ©
D. noroots
P qA T @
9.  Who was the founder of Nanda dynasty?
-ia I BT YRIYS DI U2
A. Mahapadma Nanda
B.  Shisunaga
C. Dhanananda
D. Nandivardhan
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10.

11.

12.

13.

At which among the following places, Indian National Congress adopted the resolution

of ‘Poorna Swaraj’?

fraferfed 7 ¥ fd RIM IR YR I S99 A gl TR ST Hebed U

A. Calcutta
B. Lahore
C. Delhi

D. Karachi

Jamuna river of Bangladesh is known as

SHATGRT DI STGAT 4] DI YR H T & T ¥ ST ST g |

A. Yamuna

B. Teesta

C. Brahmaputra
D. Ganga

Euro Cup is related to which sports?

R $Y fbg Td I Fafid 32

A. Badminton

B. Football
C. Table Tennis
D. Rugby

CUP:LIP: BIRD:?

A. GRASS
B. FOREST
C. BEAK
D. BUSH

river in India.
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14.

15.

Look at the numbers in the series: 2, 1, (1/2), (1/4). What number should come next?

A H =TS B G- 2, 1, (1/2), (1/4) | ST DI T AR 37T AMQGW?

o w >

1/3
1/8
1/16
2/8

10 coaches of a passenger train have got derailed and have blocked the railway track

from both ends. Decide courses of action among the following choices:

The railway authorities should immediately send men and equipment and clear
the spot.
All the trains running in both directions should be diverted immediately via

other routes.

TP TR 7 & 10 food Ut § IR T § 3R YT ¢p g aRWp U sdlldp gl T
g1 Fefifad faseat o I H1Rar &1 Arf ag 3

A4 SIBINGT Bl TR 3MTeHT 3R IUHRUT AT AMRY 3R SIS 1 WMt

E2SIEIHY!
ST femmeff & T arel Tt 2 1 ¥ R e § STgac fohar S|

A. Onlyl
&Had |

B. Onlyll
&Had Il

C. eitherlorll
grar g

D. bothland Il
| 3R 11 &1
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16. In the context of the given statements, which one of the given options is correct?

Statement I: The government has recently fixed the fees for professional courses

offered by the unaided institutions which are much lower than the fees charged last

year.

Statement I1: The parents of the aspiring students launched a severe agitation last year

protesting against the high fees charged by the unaided institutions.
3T T wol & Teuf F, fou T fawed! & 3 319 w1 wel 82

HYF | WNBR A B & & IR Tl U IR gRT YRATad AT
TSI & oY B o1 &1 § of TUsd o off 7% B9 ¥ §gd HH 8|
HYF |I: TYB S b A1d1-dr A IS Trd TR-TeTad! U TR gRT df SH
aTell 3 B & faiY | Ueb TR Sficia I ol

A

Statement | is the cause and statement Il is its effect.

HY | THPBT HRU § 3R HYT 11 BT YT |

Statement Il is the cause and statement | is its effect.

HYT 1| THDT HRUN g 3R HYF | 3BT UHTI g

Both the statements | and Il are independent causes.

HYF | 3R 11 G Wi HRUT G |

Both the statements | and Il are effects of independent causes.

YT | 3R 11 Sl T HRON & YHTT g |

17. After you delete a file from your hard disk, it is automatically placed in the

3MTH GRT 3! 818 &3P ¥ fodt WIEd &) g & dlg, g8 Walad 40 I

o w >

H g < ST g

search box
USB flash drive
clipboard

recycle bin
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18. Who is credited with the creation of the first mechanical computer, the Difference
Engine?

Y Tid SR, fSTHi SoM & i &1 99 T foar S g2

Blaise Pascal
Garden Moore

Bjarne Stroustrup

o w >

Charles Babbage

19.  Which one of the following is the smallest unit of memory?

frafafad # 9 o O TR &1 99 SISt unit 82
A. Dbyte
B. bit
C. nibble
D. kB

20. What is known as temporary memory or volatile memory?

ST AR T7 3IfRR AR frd g B2
A.  SSD
B. HDD
C. RAM
D. ROM
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21. In the context of the given statements about the Constitution of India, choose the
correct option.
I. Popular sovereignty and adult franchise are the basic features of the Constitution.
Il. The Constitution, in so far as the division of powers between the Centre and the
States is concerned, is rigid.
I11. The Constitution recognises the interdependence of civil and economic rights.
IV. The Constitution mentions direct control by the people such as referendum,
initiative and recall.
HYRd & Tfae & IR # 3T T Al & dguf & wgl fawen g |
. BT YUY 3R g HATIHR AU o 7 o= € |
1. S8l a® &g 3R I & dd Mol & fUTSH &1 9aTd §, WAy deR g
1. Tfaem TR iR e feRY &t R Rkl & ardr Sar g |
V. Tfae S0 S8, Usd SR Rapidt o arll gRT Uiy 01 31 S 5 |

A. Only | is correct.

B. Onlyl, Il,and IV are correct.
C. Only II, I, and IV are correct.
D. Onlyl, II,and Il are correct.

22. In the context of the given statements, choose the correct option.
I. The Indian Constitution is an unwritten constitution.
[1. The Indian Constitution is a written constitution.
I1l. The Indian Constitution is largely based on the Government of India Act, 1935.
IV. The Indian Constitution is a gift of British Parliament.
3T T U & de & wgl fawed |
. YR Wiy T sifefad dfaem gl
1. URT Afdu™ e fafed dfaum g
1. YR WA BTH! §& db R IRBR AU, 1935 TR AR 5|
IV, YR Afayr fafewr due @t A 71

A. Only Il and IV are correct.
B.  Only Il and Il are correct.
C. Onlyland IV are correct.

D. Only I and Il are correct.
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23. In the context of the given statements about the secularism in India, choose the correct

option.

. Secularism means that the State has no recognized religion of State.
. Secularism means that the State treats all the religions equally.
Il.

Secularism means that the State regulates the relation of man with God.

HYRA # yHfAROear & IR # AU U HyAl & e 7 gt fawen 7|

o w »

D.

. YHRUeT BT 31 § T I BT Big A=IaT UTtd ¥H el g
. yueROerd 7 31 g fob Isg gt ol & 1y g UagR AT B |
. YHAROET BT o1 § Toh o T8 & SR & 1Y ey ) FRifd axar g

All are correct.

Only I and Il are correct.
Only Il and 111 are correct.
Only I and Il are correct.

24.  Which one of the following is NOT true about Fundamental Rights?

wiferep SHTIBRI b IR H eI # A DI 91 9 T 62

A

Fundamental Rights are justiciable in nature.

Hiferes sifereR vepfa & <araa g

Fundamental rights in our constitution are more elaborate than USA’s

Fundamental rights.

IR Tfaer § Mt YR Jgad Isg MR & Aifee SifieR! 3
3R fawqa g

Fundamental rights are meant for promoting the idea of social and economic

democracy.

Afere 3UfPR I iR 3fie Aedd & faTR & 9grar a1 & fau
gl

Fundamental rights are essential for the overall development (material,

intellectual, moral, and spiritual) of individuals.

faqdl & 97 faem (Hifd®, difg®, Afde iR stenfds) & fag
Afere ISR TP B |
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25. In the context of the given statements about fundamental duties, choose the correct
option.
I. Fundamental duties were added to the Constitution in 1967.
Il. Sardar Swaran Singh recommended for inclusion of fundamental duties.
[11. Originally, the Constitution had 10 fundamental duties, and an 11" was added
in 2002.
IV. Duty to pay tax is also a fundamental duty.

Hifers Hoiedl & IR H 3T T Syl & gl § Tgl fadbed |
. Wi B 1967 H Ty A ST T o)
1. TR v g 3 Mifers wdel o M dA ! RGN &1 |
1. Ja &9 9, Gfaem & 10 Aifeied Seeg 9, 11 af 2002 H ST 71T 4T
IV. B g o T Al a1

Only Il and 111 are correct.
Only I, 11, and 11 are correct.

Only I, 11, and IV are correct.

oo wp

All four are correct.

26.  Which of the following section gives power to issue a warrant in lieu of, or in addition

to a summon?

fFofeiad 7 9 oF It yRT {5 999 & ged a1 39F Sifalked aRe SR & &
TIfa et 82

CrPC Section 87
CrPC Section 88
CrPC Section 89
CrPC Section 90

o w >
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27.  Which of the following statements hold true for dying declarations?

frafRed & ¥ ®F 91 HYF §gyd fau T Sy & e 9 82

A. Dying declarations cannot be used as a sole basis of conviction.

TYd faU T a1 &l SNRITG & THHH YR & ©J H SIAATd ol
far o gpar g

B.  Dying declarations unless corroborated cannot be used as sole basis of conviction.

e de Y Tt 81 S, Hqud Tiwonai &Y A9 & THH 3R
F =Y H IUAIT e} far off T 3|

C. Dying declaration which is brief must be discarded.

TYa e s o1 IR o s =g

D. When eyewitness affirms that the deceased was not in a fit state to make the

declaration, medical opinion cannot prevail.

oId TgereRit gfY a1 g o Tad ivon dRA & g Suged fufa &
et T, < fafdrea I Ay 8 81 A |

28. What is the name of the device that allows four surveillance camera images to be

viewed on a monitor at the same time?

3G IUHRT BT TTH T g S Th 8l AT | Th Alfex R IR AR SR Bl
Bfaa Bl A B TAfT a1 82

A video splitter
A modulator
A quad switcher

o w >

A photoelectric sensor
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29. In the context of the given statements, choose the correct option.

Statement I: Smoke detectors must be installed near windows and doors to provide
alerts for escape routes in case of fire.

Statement I1: For all new home constructions, fire alarm sensors must be powered
by the home AC power electrical wiring.

3T T U & de ¥ Wt faded |

YT |: M TH o UG A 597 & art & fow sed ueq &7 & g
fasfeal 3R cRami & U Tie gy wiftd feu om anfgul

Y 11: Tt 9 R o1 & g, BRR s/ ¥R & e W uraR faggd
aRI gRT TTferd fobar ST aTfe |

A. Onlyl

B. Onlyll

C. Bothlandll
D. None

30. A is accused of a theft on one occasion and of causing grievous hurt on another
occasion. By applying Section 218 CrPC,

A TR T 3EHR TR AR BT 3R g 3R W 1R dic Tga™ &1 R gl
Section 218 CrPC TRL &b,

A. A must be charged and tried for the theft and causing grievous hurt.
AR TR 3R TR die Uga™ &1 SRIT TR ST A1y 3R G
ESRIEIGIEIEY

B. A must be separately charged and separately tried for the theft and causing
grievous hurt.

AR AR 3R TR e ugem & forg 3ot 3RIT I ST =gy

3R 3T ¥ HheHT Iardl o1 A1fgy |
C.  Acan be charged and tried only for the theft.

gwmaﬁm&nﬂﬂ ST ST bl § 3R YheHT Tamdl S Jabdl
|

D. None of these

3T A IS T
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31.

An accused wants to submit carbon copy of the suicide note as secondary evidence.
The original is with the opposite party and he has failed to produce the same. The
suicide was not within the knowledge of the accused prior to the receipt of carbon
copy. Which of the following statements will hold true for the case?

Jh &Fﬁ-l'ﬂilﬁ, secondary evidence Rk qaes i ! HIe- HIUT U d hRAl
aredl & | Ja Ufd faueft & U g ofk a8 39 IRgd 3 H fawhd 381 § | H1a Sidt
e O U5 SR BT SR B TSGR ot 4| FafiRad & @ &F a1 woF
A o fofT 9 gime

A. The evidence cannot be admitted due to applicability of section 30 of the

Indian Evidence Act.

HRAHT g1y MfAFTH BT YRT 30 BT YAeddl & HRUT J1eg Bl WHR
I foraT o G B

B.  The evidence cannot be admitted because it fails to satisfy the requirements
of section 64 of the Indian Evidence Act, 1872.

16T 1 WHR g1 [T S Hebdl Fifdh I8 HRad 1ed Afafaw, 1872
1 YRT 64 B TARABATS DI T HRA H [IHa B

C. The evidence cannot be admitted because it fails to satisfy the requirements
of section 65 of the Indian Evidence Act, 1872.

169 &1 WIHR e [hdT ol Tobdl ifd I8 HRAIT 18y fI=agH, 1872
1 YRT 65 B HTARABATSN B T HRA H [IHa 7

D. The evidence can be admitted as it satisfies the requirements of both section
64 and section 65 of the Indian Evidence Act, 1872.

1&T 1 WBR a1 o TobdT § i g8 HRd a1eg iffaw, 1872
DI YRT 64 3R URT 65 Gl BT HTIAHATSN B T HIAT R |
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32.

33.

A quarrel arose between C on the one side and A and B on the other. C abused A,
whereupon A struck him with a stick, and B struck him down with an axe on the head.
He also received two other wounds with the axe on the other parts of the body. Any
one of the three axe wounds was sufficient enough to cause death, especially the one

on the head.

T IR Y C 3R I RE I A 3R B & &I ST 1 AT C 5 A DI e d,
oI 91C A 7 3T R Be! J IR a1 3R B 7 39% "R W Feeral ¥ aR |
R F o RN R W Fer1st & 3 g | T Feersl Faai A Y w18 1 i
B HRU T o o8 Taft T, WRax RR R @ 9ra |

A. Cis guilty for voluntarily provoking the attack while B is guilty of culpable
homicide.

C 0BT ¥ gHA & ol IHT &1 qIl § Safds off IR TG 81 BT gt
=

B.  Aisguilty of culpable homicide, while B is guilty of voluntarily causing hurt.

A TR e 81 H1 a8 g, e B W1 I dIc Uga™ 1 e gl

C. Bisguilty of culpable homicide, while A is guilty of voluntarily causing hurt.

B TR SRTed 81 &1 318! 3, Jaidh A W3 dic Ugd™ o1 et g |

D. Both A and B are guilty of culpable homicide.

A 3R B SFI TR 3IGd &1 & SNt

Usually a copy of F.L.R. is filed with the Magistrate having jurisdiction to take

cognizance, by the police officer in compliance to

AR TR U, 3718, 3R, &1 T Ufafafd o SUTe H gfer il gRT
I T BT TIHRET TG aTel ARSE & U IR fohdT ST g |

section 156 of Cr PC
section 157 of Cr PC
section 158 of Cr PC
section 159 of Cr PC.

o w >
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34. Delay in dispatching the FIR to the Magistrate under section 157 of CrPC

CrPC & YRT 157 & dgd HAGReC B! THIMEHR Jold # &3

A. shall always throw out the prosecution case in its entirety
SIS A ! §HRM U3 aRE T /IS DR &

B. shall never be a circumstance providing a legitimate basis for suspecting the
FIR
THSTEHR TR TGg B & (oY I STYUR UG - arant uRfeufa waft

e gl

C. may or may not be a circumstance providing a legitimate basis for suspecting

the FIR depending on the facts and circumstance brought on record

TS TR AT 77T et 3R uRfRUM & YR IR TH3ESIR R g
B b 11T I YR U™ B arelt GRS g) 1 Tebell § 3R =1et oft

D. either (B) or (C)
gqral (B) 1 (C)

35. An investigating officer under section 160 of CrPC cannot require the attendance at a

place other than the place of residence. The investigating officer is

CrPC @1 YRT 160 & dgd U oid SYBRT &l g I & 3farar fadt 3 -
TR IURIFT BT STa=IHdl 51 51 Gbdll ¢ | i HABRI Th

A. amale who is under the age of 18 years

Ty ¢ fore! 39 18 a8 A HH §

B. amale who is under the age of 16 years

Ty g forde! 39 16 a8 4 HH §

C. a woman

Hfga g

D. either (A) or (B) or (C)
I al (A) T7(B) T1(C)
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36. A University was charging different fee from different batches. The batch B was
subjected to higher fee and the structure of the fee was clearly disclosed in the
prospectus. Can the students in batch B challenge the validity of the fee structure?

T fayfaaray faflrd o9t § SfaT- 31T Yo o T6T 4T oF B R IR Yeb
T TR T SR Yo B! AT Uredaed & WF ¥U 9 918 7T ff | FT a9 B
& O Yoob TR B YT BT I S Tobdl 82

A. No, applicability of promissory estoppels stops them from challenging the
structure.
e, FEEY B YAl 37 TRET &Y g o 9 At 7

B. No, they by taking admission gave up the right of parity treatment with

others.
a1, I8 T B gERI o 1Y JHM BT AHR Bis faaT|

C. Yes, there is no ground for stopping them from challenging the validity of

the fee structure.
1, 3% e IAT D1 YT B G ol U A BT Dl MUYR 81 |
D. No, by accepting the admission they have waived their right to object.

To], WieRIfad WHR Hb Ioi- TURT B BT 3UAT IBR TR
fear gl

37. Section 41B of CrPC states that the memorandum of arrest under shall be

CrPC YRT 41B | gl Tl %% memorandum of arrest

A. attested by at least one witness, who is a member of the family of the person
arrested or a respectable member of the locality where the arrest is made

®H I HH TP 71d18 gIRT YHIOIT R, S FRUAR T 7T fad & AR
BT ISR B U1 Y el T I Ga & 8l ol ART &1 71 8

B.  countersigned by the person arrested

RUR safad gR1 ufdgaRd shim
C. either (A) and (B)
1l (A) 3R (B)
D. both (A) and (B)
(A) 3R (B) g1
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38. A and B have a dispute over the ownership of a particular bag found in an auditorium.
The dispute changed into an altercation and A came to blows, thus injuring B. The
police intends to record an FIR for voluntarily causing hurt and arrest A. Which of

these is true?

A 3R B & &9 U IR H el uep faRiy 71 & wanfira &) da faare g | faarg
TS H 9 d T 3R A ARYIE W IR 3141, fS B 919 g1 17| gfery a1 9§
dIc UgaM & folt THSMTS3IR o R 3R A B IRTIR FHRA BT 1T 3@e g
0 U S 199 72

A. A cannot be charged because B was equally at fault.

A TR 3RIY Ta! T ST Fhell R B i SRISR HT 3T 1|
B. B must arrest a person and hand him over to the police.

B %1 U Afad & TRUAR A1 BT 3R 39 Yferd &1 Ag=1 g1 |
C. A may be arrested by the police without the magistrate’s warrant.

A B G GRT AR E & dRe & fo1 TRUAR foram S I ]

D. A may be arrested by the police with a magistrate’s warrant only.

A & Gfe GRT Shad AfRee & dRe I FIRWR foar s 9 g

39. Vulnerability analysis comes in which part of the Disaster Management Cycle?

TR fIRAYUT STUST Y deh & b HRT H 311 82

A. Mitigation
RHA

B.  Preparedness
GRIRH

C. Response
gfdfshar

D. Recovery

TG
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40. Data theft is

SAEARI®

A. unauthorized attempts to bypass the security mechanisms of an information
system or network
o} =11 el A1 e ddh o GR&T o DI SIUR B DI SHIIHd T
B. use of information and communication technologies to support hostile
behaviour

AU HEER BT THYT HA & U a1 $iR TaR Weififear &
ST
C. aform of fraud or cheating of another persons’ identity

YraTys! a1 fedt 3/ aafad @ UM ! UGl ¢ &1 Uh =0

D. without the permission of the person who is in charge of the computer, to
download, copy or extract any data, computer database or information from
computer

$HugeR I fobdt vt ST, R STy A1 SHBRI &l SIS HRAT, DIl
ST g1 FBTET, 39 fdd B SIgAfd & 51 St egeR ST uuR §

41. Hacking means

HEAGIRCNC

A. unauthorized attempts to bypass the security mechanisms of an information system
or network

Tt T YoTelt a1 eadh & YR&T oF DI STUN 63 &1 G YAy

B. use of information and communication technologies to support deliberate, repeated
and hostile behaviour

THEHR, IR-TR 3R AUl TaER &1 T e & o a1 ik
AR WeNfferdt 1 SudnT

C. aform of fraud of another persons’ identity in which someone pretends to be someone

else by assuming that person’s identity

Pt 3= Afed I U< B UGT 2 BT Th 77 § FoRIH hig A 39
fad 1 UG HFHR PIs 3R 811 T fe@rar Har g

D.  without the permission of the owner to download computer data

e Bt AT & [T LR STl SIS HRAl
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42. A attacks Z under such circumstances of grave provocation that his killing of Z would
be only culpable homicide not amounting to murder. B, having ill-will towards Z and
intending to kill him, and not having been subject to the provocation, assists A in
killing Z. Here, though A and B are both engaged in causing Z's death, which of the
following decisions apply to A and B under section 38 of IPC?

A TR o ) T oRfRufadl # 2 &R eHar ol 8 6 39F gRT1 Z &1 g
Had TR RIGA- gl BRI B, Z & Ul gHIGHT T 8, 3R 3¢ ARA &7 I10al
@A | B 35U & e 81 §, dUT Z B ARA T A D GeTadT Bl g | s
T YRT 38 & dgd MHARad § ¥ DI 91 g A 3R B TR AR 8T 672

A. Ais guilty of culpable homicide and B is guilty of murder.
A TR FRIGH T TGN § 3R B 5T BT &N 5

B. B is guilty of culpable homicide and A is guilty of murder.

B TR I ST BT I § 3R A T BT NI 5
C. Both A and B are guilty of culpable homicide.

A 3R B g TR 1&gl &b Gl 81
D. Both A and B are guilty of murder.

A 3R B &I g1 & aINl &
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43. Mrs. Komal bought a car on the name of her daughter, Kiran, who is a minor, and got
the insurance policy transferred on her name (Mrs. Komal). The car met with an
accident on two counts and she filed for a claim on both the counts, from the insurance
agency. She acknowledged the receipt of the money as Kiran. The insurance company
prosecuted her under Section 467 of the IPC alleging fraud on the appellant’s part. In

this context, which one among the following is true?

el Hrae 3 SO 9 favur, S AT 8, % A W UH HR WG 3R S
aifert 3 (it HIHe) TH IR RIFARG &R ¢t | HR &l IR gUeRRd §s 3R
I T Tt § G Al § &rd & AT s fharl 39 fevur & wu H 09
e @1 91 WeR!| & HUA A fdiddd] W YRSt &1 AR Td g4
STSURA BT URT 467 & dgd GhaH gam| 39 deif H, Fofaled & 9 &F @
HYT T 87

A. Mrs. Komal is guilty of forgery because she made the insurance company

believe that she is Kiran.

At P STl P Gt g Tl IT= SHT ST B Ay feam
% ag farur g1

B.  Mrs. Komal is not guilty of forgery because the said deceit did not secure her

any advantage as the entire transaction was that of Kiran.

i HHe STl ot gl 81 & wifer Iad ORa A I PIs ATH gl
3T Hifcb QRT oi- fa=ur b1 T

C. Mrs. Komal is guilty of forgery because she signed all the papers in the name

of Kiran.
il HIH SISl Bt gl § FRife IoiA 0 & 98 TR guft
BRI IR gXTER fHT |

D. Both (A)and (C)

3T (A) 3R (C)
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44. Defamation is

B g

A. Dboth atort and a crime
THT 3R URTY ST

B. onlyatort
&Hdd Th HUFI

C. onlyacrime
Had T RTY

D. none of the above
Y BIE i Tl

45. Ais a good swimmer. He sees B drowning, but does not save him. B is drowned. A
has committed
A TS 3T swimmer &. 98 B DI Fad U <@l §, Wi 34 STl Tal 6| B g
g AR gl

A. the offence of murder

BT BT WRTY fobar
B. the offence of abetment of suicide
AT & o1 IH UM &l URTY o
C. the offence of culpable homicide
TR G 5T BT SORTY T
D. no offence
DI IORTY ol b
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46. Which of the following is an offence under the Indian Penal Code?

fafeiad 7 ¥ oF 1 YR ¢ dfedl & dgd STy 82

A. Purchasing acid
RS wdte

B. Selling acid
RIS S

C. Throwing acid on a person with the intension of disfiguring
fad Bl fdhd B &1 FTd ¥ 39 W TRIS T

D. Manufacturing acid

R o1 fAmio

47. Assault in order to outrage the modesty of a woman is punishable under

forft wfee @1 i ) 39 UgE & o gHa & d8d e g

Section 350, Indian Penal Code
Section 351, Indian Penal Code
Section 353, Indian Penal Code
Section 354, Indian Penal Code

o o w >
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48.

49.

A handed over his mobile to the owner of a mobile repairing shop. In order to not pay
the repairing charges, A picked up his mobile from the shop, when the shop owner was

not looking. In this case, A is

A 3T HiETSd U AiaTsd RO g™ & mifeie & 91y 3T 7Rerd Yeb
BT YU 7 B & AT, A = B I U HiSTSd IS, S bl HIfereb el
@ G YT SHAMAH, A

A. guilty of criminal breach of trust

STORTIE fI%yTrand 1t §
B.  guilty of cheating
RSt B QW §
C. guilty of theft
I BT §

D. not guilty of any offence because he has picked up his own mobile, but

he has to pay the repair charges
fopaft off aroRrer @1 et &Y § s IR 31U HieTgd W oM R,

difdb I IRETd Yeb T YA HAT g

A and B agree to commit theft in C’s house, but no theft is actually committed. Then,
Aand B

A 3R B, C & R T IR HA & forT Ygud €, Afde- aIRad & Pis I8 T8l g3 2

a9, ASRB____

A. are guilty of criminal conspiracy
SITORTIYE AT & Gt &

B. are guilty of abetment by conspiracy
TSI GRT IHIH & et &

C. are guilty of abetment of instigation
USHH & A F

D. have commited no offence

A PSRy TSI fpaT ®
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50. A'is 15 years old. Her father’s name is B. C, without consent of B takes A for a tour of

south India. C has commited the offence of

A 15 9¥ BT 5. 39 U BT B §1 C, B B! JgHI o 9T A B S0 YR &

ARNRASHRICA BT ARTY fHaT B
A.  kidnapping

gUgRUl
B. abduction

S{UgUl

C.  wrongful confinement

TAd HBISIHC

D. wrongful restraint

Tord e
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